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Time: 10 Minutes Paper Math 4 (T-1) Total Marks: 10

1st Month, 2nd Week, 5th Day  |Addition and Subtraction (} #»&

Q.No.1. Choose the correct option. 1x3=3) -J /;«L'e:'! Kﬁfwz;

i) Jamal has 2 379 books in his shop. He bought 4 588 more books. How
many total books are there in his shop?
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ii) There are 45 765 trees in a forest. If 32 124 are cut trees, then the number
of trees other than cut of are?
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iii) A Shopkeeper has 11 250 dresses in his shop. He sold 1 780 dresses. How
many dresses are left?
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Q.No.2.Arsalan has Rs. 51 346. He wants to buy a laptop which costs Rs. 75
432. How much more amount does he need to buy the laptop? 1x2=2)
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Q.No.3.There are 36 788 trees in a jungle. Students planted 25 679 more
trees. How many trees are there altogether? (1x2=2)
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Q.No.4.There were 12 345 cattle in a farm. If 34 567 more cattle are added,
the find. (1x3=3)
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(a) How many cattle were there in the farm?

(b)If 26 754 were goats out of the total then. what was the number of cattle

other than goats? ?u;/ Lﬁlﬁgfuyf%r; /uuf."L L:néugfﬁuf? ug/ 26754 - J(/';'
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